



Name: _____

Date: _____ Score: _____

$$\left(\frac{1}{2} - \frac{1}{6}\right)^2 + \frac{1}{3}\left(\frac{2}{5} - \frac{1}{2}\right) =$$

$$\left(\frac{1}{6} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{3}{5} - \frac{1}{4}\right)^2 + \frac{1}{6}\left(\frac{1}{4} - \frac{1}{5}\right) =$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{1}{5} + \frac{1}{5} \times 3^2 =$$

$$\left(\frac{2}{5} + \left(\frac{1}{6}\right)^2\right) \times \frac{1}{2} + \left(\frac{2}{5} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{1}{5}\right) =$$

$$\left(5 - \frac{1}{6}\right)^2 + \frac{1}{4} - \frac{1}{6} \times 3^2 =$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{1}{2} - 2^2 \times \frac{2}{5} =$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{1}{2} - 3^2 + \frac{1}{2} =$$

$$\left(4 - \frac{1}{3}\right)^2 + \frac{1}{5} + \frac{2}{3} - 2^2 =$$



Name: _____

Date: _____ Score: _____

$$\left(\frac{1}{2} - \frac{1}{6}\right)^2 + \frac{1}{3}\left(\frac{2}{5} - \frac{1}{2}\right) = \frac{7}{90}$$

$$\left(\frac{1}{6} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{2} + \frac{3}{4}\right)^2 = \left(-\frac{1799}{1200}\right) = \left(-1\frac{599}{1200}\right)$$

$$\left(\frac{3}{5} - \frac{1}{4}\right)^2 + \frac{1}{6}\left(\frac{1}{4} - \frac{1}{5}\right) = \frac{157}{1200}$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{1}{5} + \frac{1}{5} \times 3^2 = \frac{77}{20} = 3\frac{17}{20}$$

$$\left(\frac{2}{5} + \left(\frac{1}{6}\right)^2\right) \times \frac{1}{2} + \left(\frac{2}{5} - \frac{1}{2}\right)^2 = \frac{403}{1800}$$

$$\left(\frac{2}{5} - \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{1}{5}\right) = \left(-\frac{11}{900}\right)$$

$$\left(5 - \frac{1}{6}\right)^2 + \frac{1}{4} - \frac{1}{6} \times 3^2 = \frac{199}{9} = 22\frac{1}{9}$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{1}{2} - 2^2 \times \frac{2}{5} = \frac{103}{20} = 5\frac{3}{20}$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{1}{2} - 3^2 + \frac{1}{2} = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$\left(4 - \frac{1}{3}\right)^2 + \frac{1}{5} + \frac{2}{3} - 2^2 = \frac{464}{45} = 10\frac{14}{45}$$